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Which of the following is correct in all aspects?

This is the best peach producing valley

I done matric in 2010

This is an utensil

The population of the world is raised

Show Answer...

Correct Answer: d) This is the best peach producing valley

Grammar and Facts Quiz: Which of
the following is correct in all
aspects?

A. T done matric in 2010

B. This is an utensil

C. The population of the world is raised
D. This is the best peach producing valley

Which of the following is correct in all aspects?

Let’s test your language and factual knowledge by identifying the correct
statement.

Options:

a) I done matric in 2010:

Incorrect. The correct form is “I completed matric in 2010.”

b) This is an utensil:

Incorrect. The correct form is “This is a utensil” (without an before utensil).
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c) The population of the world is raised:
Incorrect. The correct form is “The population of the world has risen.”
d) This is the best peach producing valley:

Correct! This statement is grammatically correct and provides factual information
about a valley being known for peach production.

Conclusion:

Identifying correct statements involves both grammatical accuracy and factual
precision. In this quiz, option d stands out as the correct statement, highlighting
the excellence of a valley in peach production.
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